One—Stop Auto And Motorcycle Modification

Parts Supplier
HAOFA RACING

Gongye Street, Beifang Lndustrial Park, Hengshui City, Hebei Province,China.
Tel;+86-19831469190

+86-18395619528

+86-15633874345
E-mail: haofa@hf-autoparts.com

A
Hpn\.l“"::::!'l'"ﬂ!}:!!ﬁ"ﬂ P

el A
T R

' II—J_:: ; E _..'.' 3 " iﬁ“‘ij : b : : e 4 ik
- S T ZizeTs : - L
}..!E&?;'f.g“::H;HHH!!H{(: £es, PTITTTIT \§)
p I st 3 TN

s B
rr Tt %9
sasnAnaiigs .

0

A R LT |
I T '1’1?IHHHHHHHHFJHHH"N;T}'s‘._ i
| EARRNANN AN AN NN NN AIMIN
TN T TA TR R AR AT ARRURNRRRNRRIRRFRIEIRT I 010000 )

R AN AT A AV RN ANRURERNER RV AT EL AT A o rr i 0y
TR N TN R TR RANR TR ERFRANET AT PR LT 10 e

S TN

A rararaTsTg T ITa A TaravaTANANAN AN S ..l_ll‘f_#rl'l'lfl”l?l't!l'!'l'_:"r"-’:’ T Ta0 RS

1TREATE |.'.\_I '““““‘“'"“‘“W“’!!?!FH!E“ ! i -_! '.-. !; f P nd i

1 1 1|T!T':!'Jj'I,]'.]...ﬂ".]lq._'lw_’.!!“!!!'ﬂﬂ!;!' EYprEr e i -

Il EARa gL TIYANRANSRENaNEgeFeREEREEFRESF RERLIL LS £ 07

A TS g e e e e pega g eg s eg ey e LR R ST EL [ £ (1 ¢

e E b R B RO B b e e ia G L R R R
=1 - ~ = . T —_— = __'-' R ==
- - . ™ .




S HeoFa iReGing
INDEX x_,/ \ . p;Rl"RMM('L -
_|
-
BRAIDED HOSE 0o
TUBE & HOSE HARD LINE > D e
®= Braided Hose 1-2 ®= Hard Line Fittings 42 ® PTFE Stainless Steel Braided Hose N S s;
g - : stalniess steel outer cover
= Aluminium Tube 3 " Hard Line And Tube Straightener 43 Stainless Steel Braided Hose is a ture double braided stainless hose ®)
® Flexible Rubber Hose 4 that uses the highest quality stainless wire available in the world. N
S Brake Hose 5 . Constructed with a stainless steel outer braid that resists abrasion Tl
| and corrosion
" Hydraulic Rubber Hose 6 HOSE FITTINGS & ADAPTERS “Combined with a reinforced PTFE synthetic
= Nylon Hose 6-7 rubber liner with a nylon inner braid. 1/
= Crimp Style Fitting 8 m Adapter Fittings 44-62 . For use with fuel systems, merhanol, oils, lubricants, coolant PTFE inner tube
. Weld Adapter Fittings 63 systems and vacuum applications.
i e B e ) p S . Minimum temperature -60°C, maximum the temperature 260°C.
= Heat Resistant Casing 10-11 ™ Turbo Drain Adapter o4
= Y-Adapter 65 .D. | O.D. | W.P. B.P. M.B.R. Temperature
= |dentification Chart Part No! AN . : .
HOSE INSTALLATION mm-mm - pst P31 i iy &
B st #53 HF-3203 | -3 | 3.56 | 6.35 | 4000 | 12000 50.8 -60°C ~ 260°C
= Installation Steps Of Braided Hose 13 HF-3204 | -4 | 4.83 3 4000 | 12000 63.5 -60°C ~ 260°C
HF-3206 | -6 | 8.13 [10.92| 3000 | 10000 38.9 -60°C ~ 260°C
HF-3208 | -8 |10.67(13.72| 2500 | 8000 101.6 -60°C ~ 260°C
| , HF-3210 | -10 |12.95| 16 2000 | 6000 114.3 -60°C ~ 260°
DEGREED BEND HOSE ENDS A
HF-3212 | -12 [16.26 | 19.3 | 1000 | 4000 139.7 -60°C ~ 260°C
B Swivel Hose Ends 14-15
= Hard Anodized Swivel Hose Ends 16-17 ® Stainless Steel Braided Rubber Hose
m High Polished Swivel Hose Ends 18-19 .
| | 304 stainless steel outer cover
8 Snie Clggiensivol Hose Ends s /\ Stainless steel wire mesh sandwich
m Cutter Style Swivel Hose Ends 22-23
= One Piece Cutter Swivel Hose Ends 24-25 Rubber inner tube
®m Push Lock Hose Ends 26-27
i i S ID. | oD.| wp. | BP. | MBR Temperature
® PTFE Hose Ends 30-31 Part No! AN | . . _ .
| mm | mm | psi psi mm min max
m One Piece PTFE Hose Ends 32-33
= Full Elow Teflon Hose End 34.35 HF-3004 | -4 | 5.56 [11.13| 1015 | 6090 50.8 -40°C ~120°C
= Female Forged Elbow 36 HF-3006 | -6 | 8.73 |13.89| 1015 | 6090 63.5 -40°C ~120°C
B s Eilo 36 HF-3008 | -8 |11.12|16.28| 1015 | 5075 88.9 -40°C ~ 120°C
® Forged Hose Ends 37-39 HF-3010 -10 |1 14.27 120.24 | 1015 5075 101.6 -40°C ~ 120°C
= Forged Style Cutter Hose Ends 39-41 HF-3012 | -12 |17.47 |23.82| 1015 | 3813 114.3 -40°C ~120°C
HF-3016 | -16 |22.22|29.96| 754 2537 126.2 -40°C ~ 120°C
HF-3020 | -20 | 28.5 |35.81| 754 2537 139.7 -40°C ~ 120°C




nToFd Raclng 1ToFd Kaclng]

—
C
oo
m
Qo
I
O
n
m

4SOH ¥ 34Nl

o RS

et it . mEere
iy == Sl e | &
v F = i alTal - '-'ﬁ_-.. 1
¢ L9 @ !‘

L = _ ; ‘ - .-.-.'-.- :_J! I--:=: o "-.'f;. '.f-"ﬂl -- -.- e .‘. . . e
S steel inner core for superior g4 ':-f Tt
| | -rzed accordmg to

synthetic rubber liner. o) e 2
. For use with fuel systems, methanol, olls, lubricants,
E85, E10, coolant systems and vacuum applications.
. Minimum temperature -60°C~260°C.

. A flexible stainless

Nylon braided outer layer

DEGREE
30°(length 324mm)
30°(length 324mm)

PART NO.| O.D. | THICKNESS
HF2201-01-30 | 50mm omm
HF2201-02-30 | 60mm |  2mm

DEGREE
STR(length 500mm)
STR(length 500mm)

PART NO.| 0.D. | THICKNESS
HF2201-01-00 | 50mm . 2mm

2-00 | 60mm |  2mm

-60°C ~ 260°C

| 4 ass| o Lo | w0 | s

HF-3308 nm

-12 1626 193

HF2201-03-00 | 70mm 2mm STR(length 500mm) HF2201-03-30 | 70mm 2mm 30°(length 324mm)

HF2201-04-00 | 80mm 2mm STR(length 500mm) HF2201-04-30 | 80mm 2mm 30°(length 324mm)

HF2201-05-00 [101.6mm 2mm STR(length 500mm) HF2201-05-30 [101.6mm 2mm 30°(length 324mm)

-60°C ~ 260°C

HF-3312

1000 4000 139 7 -60°C ~ 260°C

Nylon braided outer layer

® Nylon Braided Rubber Hose

DEGREE
45°(length 344mm)
45°(length 344mm)

HF2201-01-60 | 50mm 2mm
HF2201-02-60 | 60mm 2mm

DEGREE
60°(length 365mm)
60°(length 365mm)

PART NO. | O.D. [THICKNESS
350 HF2201-01-45 | 50mm 2mm
W HF2201-02-45 |60mm | 2mm

#f*d##ﬂw

"j{{fﬂ v

THICKNESS

NBR/CPE synthetic inner tube €«—

HF2201-03-45 | 70mm 2mm 45°(length 344mm) HF2201-03-60 | 70mm 2mm 60°(length 365mm)

HF2201-04-45 |80mm | 2mm

45°(length 344mm) HF2201-04-60 | 80mm 2mm 60°(length 365mm)

HF2201-05-45 HF2201-05-60 [101.6mm 2mm

101.6mm 2mm

45°(length 344mm) 60°(length 365mm)

304 stainless steel outer cover

HF-3104

HF-3108

HF-3112

HF-3120

ﬂ-
n

-20 285 36 53

48

1392

1397

40°C ~ 120°C
-40°c ~120°C

-40C~120C

-40C~120C

PART NO.

HF2201-01-90
HF2201-02-90
HF2201-03-90

HF2201-05-90

50mm

70mm

80mm

101.6mm

DEGREE
90°(length 405.5mm)

90°(length 405.5mm)
90°(length 405.5mm)

90°(length 405.5mm)

90°(length 405.5mm)

PART NO.
HF2201-01-18
HF2201-02-18
HF2201-03-18
HF2201-04-18

HF2201-05-18

O0.D.
50mm
70mm

' 80mm

101.6mm

THICKNESS

2mm

2mm
2mm
2mm

2mm

DEGREE
180°(length 528mm)

180°(length 528mm)
180°(length 528mm)

180°(length 528mm)




nTOFC Racing

nTOFd Racing

Y

jith our push-on. Stainless steel

 HAOFA series push lock hose is designed for the use v
fittings. available in black and blue. ;
.Suitable for coolants, oil, air and methanol. fuel bystems, Lubricants. W
.where temperature exceeds 70c the use of a clamp is recommended. '

temp range -40°C~ 100°C -~ ;

4SOH ® 34Nl
A
'dSOH ® 39Nl

T PVC/PU shell

PTFE inner tube

Hose Size| HF Part | Hose |.D. [Hose O.D./Max.Op.Pressure| Min.Bend.Rodius
AN Number | mm |inch | mm | inch psi(bar) mmy(in)

-4 HF2202-04| 6.35 | 0.25" |11.94| 0.47" 250 (17.23)

Remark

® Nylon Brake Hose

63.5 (2.5") Black / Blue

-9 HF2202-05| 7.90 | 0.31" |14.20| 0.56" 250 (17.23) 76.2 (3.0") Black / Blue

-6 HF2202-06| 9.65 |0.38" |16.00| 0.63" 250 (17.23) 76.2 (3.0") Black / Blue

-7 HF2202-07{ 11.5 {0.45" [17.50| 0.69" 250 (17.23) 102 (4.0") Black / Blue

250 (17.23)
250 (17.23)

-8 HF2202-08|12.70| 0.5" |19.05] 0.7%" 127 (5.0°) Black / Blue

HF2202-10/16.00|0.63" |23.88| 0.94" 152.4 (6.0") Black / Blue

HF2202-12119.05|0.75" |25.40| 1.0" 250 (17.23) 177.8 (7") Black / Blue

® Smooth Cover Oil Hose

Hose |.D.

o
T

Thick Hose O.D.

Part No

HF-34-1/8
HF-34-5/32
HF-34-3/16
HF-34-1/4
HF-34-5/16
HF-34-3/8
HF-34-15/32
HF-34-1/2
HF-34-5/8
HF-34-3/4
HF-34-1

2.9
3.1
3.2
3.05
3.25
3.5
4
4.9
4.8

3l
4
4.8
6.3
7.9
3.5
12
12.7
16
19
25.4

Inch
1/8"
5/32"
3/16"
1/4"
5/16"
3/8"
15/32"
1/2"
5/8"
3/4"
1

+0.3
+0.3
+0.3
+0.3
+0.4

+0.4

+0.4
+0.5
+0.5
+0.5
+0.6

9
10
11
13
14
16
19
20
24
29
35

inch
0.35
0.4
043
0.5
0.56
0.63
0.75
0.78
0.94
1.13
1.38

+0.3
+0.3
+0.3
+0.4
+0.5
+0.5
+0.5
+0.5
+0.6
+0.6
+0.8

300
300
300
300
300
300
300
300
150
150
150

3
Q)

o OO

oo Qo

5 BSE N 60 oo 88l oo

|
@

1200
1200
1200
1200
1200
1200
1200

1200

600
600
600

fSs4893s

4 g ~

SRR &iﬁ‘gfxfﬁf@’ﬁfx‘@‘i‘l‘.‘ 3599353999958 909s _ .
‘*“WWW”“$$ﬁ%@#§##?ffffffffff?fffﬁ

A4S ALLLaRes




nToFd Raclng 1TOFd Kaclng]

3SOH % 39Nl
3SOH % 39n.L

_ 1/8 172 | 689
[VARIOUS USES] - The hose is sitable to carry petroleum, 4
mineral oils, emulsion, hydrocarbons, and water-based hydraulic fluids. Y

It is ideal for construction, agriculture, and other machinery that uses a hydraulic system. HF-Nonn 1-1/4 207 327

- 3.P. HF-Nonn1-3/8 m 55 621
7351 --n 12 o5 m 520

HF-35- mn-n gt 11|25 ] 221100 1400
HF-35-5/16 m--n 1 e Two Layer Of Nylon Hose

HF-35- 15/32 12
HF-35-5/8 m--n 600

HF-35-1 ' 25 41206| 138 | 35 | £08| 48 150 4 600 | HF-Nylon-2-1/8 300 {1200

® Nylon Plastic Air Pipe
- vl | 0D, | et BPAyion 2-1/4_ m 345 1379
L I I F /. 4 yon 235 mm 276 11100

vens | 116 HENyion-257 m soo
HF- Nylon -0-7 — y SR 4 _
i Nymn o -m ‘ ~ / . | | HF_Nylon-z r - 25 35 1 60 640
HF- Nylon -0-12 --- S

HF-Nylon-0-14

HF-NYIOn-O-Z ‘ v 1 .




4SOH ® 34NNl

e Racing

@ Straight Crimp Style Fitting

HF-6006-90
HF-6010-90

HF-6016-90

HF-6006-180

HF-6010-180 AL,SSST

HF-6016-180 AL,SSST

HF-6006-45

HF-6006-120
HF-6010-120

HF-6016-120

NdeFa Racing

4SOH ® 34NNl




1deU Racing

hleeka IRgEing

ONISYO LNV.LSISIH LV3IH
'ONISVYD LNVLSISIY 1VIH

The VCO fire hose is sewn with Velcro. The advantage is that it is easy to disassemble and assemble,
and there is no need to stop the equipment, disassemble the cables, etc. during installation, and the
inside is sewn with a fire-resistant and flame-retardant buckle, which can be used for sealing and
iInsulating only by gluing the sleeve from the middle. Affect equipment production and save installation
time. It is commonly used in large-scale smelting equipment, and is also used in metal

high-temperature hoses. : :
) P ® VCO Fire Pipe

Fireproof pipe is made of thick glass fiber braided tube, the surface of the casing is coated with iron
oxide red silicone rubber, which can withstand molten metal splashes and other heat sources and
flames, and is often used to protect hoses, cables and pipes in harsh environments. Road etc.

The product can maintain flexibility at minus 54°C and can withstand a continuous heat source of
260°C; 15-20 minutes at 1093°C; 15-30 seconds at 1649°C.

Its insulating properties can provide users with effective thermal protection, prevent damage by hot
hoses, and greatly reduce heat loss. The synthesis of special high-temperature resistant materials
determines that the fire-resistant pipe has many characteristics that other similar materials are
difficult to replace; high temperature resistance, thermal insulation performance, flame retardant
performance, electrical insulation performance, chemical stability, weathering resistance oil
resistance, ozone resistance, voltage resistance, arc resistance, corona resistance, etc.

® Fire Pipe

HF-FRP-35
_. Z_:'. ’

e
HF_FRP-121

customize

special thickness can be customized.
Logo can be printed.

~silicone, fiberglass

ammlify

remark: special le
customize

special thickness can be customized.
Logo can be printed.

HE-VFP-51

20
20

™ SO0

20
20




1TOFd Racing

i

B, Y | . =
{ | | | . y : {

B

~ (AN4 to AN12)
HaoFa has designed this rotary vice to make
the installation of tube & hose with AN fittings

easily. The installation kit comes with everything
you need to install the hose to AN fittings. The kit also

quickly and easily transforms into a vice and comes in a handy
carry case.

X,

Unscrew the socket nut holder and
screw on the vice adaptor.

I‘1,.i| 1T

® Hose Installation Kit Instructions
(AN4 to AN12 & HF series hose ends)

Till now, a purpose-built tool for the connection of braided steel hose and fittings has been lacking
from the automotive market. Installation was performed manually, something that was diffcult, labour
iIntensive and risked injury. due to demands in the high performance and automotive industry, HaoFa
provides the hose installation kit to solve these problems.

Unlike other kits on the market,HaoFa hose installation kit incorporates a flexible design making it easy to
assemble as well as making the replacement of parts conveniently. The kit is made of aluminium,
steel and iron to prevent corrosion. It also comes in a convenient carry case for

easy transportation.

Step 1

Bind masking tape tightly around the
hose at the required length and cut it
through using a fine tooth saw blade
or cut off wheel, leaving tape on both

(

TR YT FTEY BT PR TS P

clean and keep from any debris from

ke,

Slide the cover back and slide the socket nut
insert into the tool and the hose clamp inserts into

i r,

Place the socket nut into the tool holder and the
hose into the hose clamp. Place the nut into the

Release the hose clamp assembly by releasing
the thumbscrews. Slide the socket nut holder

open. the holder. nut clamping mechanism and slide the cover
closed.
4 N &

ih ki ta bbb d,y

%

To transform the Aeroflow Hose Installation Kit
from an installation tool to a vice simply slide the
hose clamp and handwheel assembly off the
base.

\_

Place the stainless steel braided hose into the
hose clamping mechanism and tighten the two
screws to hold it in place.

g

With the cover closed and the hose held in place
begin rotating the wheel until it cannot rotate
any further. Measure depth of nut to prevent
overthreading.

LUOFY Raclng

> > INSTALLATION STEPS OF BRAIDED HOSE

o A
5 LS

"

Slide the two vice-jaw pieces onto the base of the
assembly. Slide the handwheel assembly out and
slide back into the groove of the vice piece.

Step 2

Bind the socket in a smooth jaw

vice and insert one end of the

hose to the vice by turning clockwise
and pushing until the hose finishes

Step 3

Pressure tese.

ends so that it retains the braided wire, just behind the socket threads.

both the cut ends and inside of the hose.




1UOFC Racing

® Swivel Hose End-STR

HF-4004-001 7/16 X 20
HF-4008-001 n 3/4X 16
HF-4012-001 1-1/16X12

1-5/8 X 12

Rubber Hose

Rubber Hose

Rubber Hose

- SAN3 4SOH AN4d9 dd3494d

HF-4020-001 Rubber Hose

-20

® Swivel Hose End 45°

Rubber Hose

HF-4004-045 n 7/16 X 20
HF-4008-045| -8 |3/4X 16
HF-4012-045 1-1/16X12

HF-4020-045

Rubber Hose

Rubber Hose

-2011-5/8 X 12 Rubber Hose

® Swivel Hose End 30°

Rubber Hose

HF-4004-030 7/16 X 20
HF-4008-030 n 3/4X 16
HF-4012-030 1-1/16X12

1-5/8 X 12

Rubber Hose

Rubber Hose

HF-4020-030

-20 Rubber Hose

® Swivel Hose End 60°

Rubber Hose

HF-4004-060 7/16 X 20
HF-4008-060( -8 | 3/4X 16
HF-4012-060 1-1/16X12

1-5/8 X 12

Rubber Hose

Rubber Hose

HF-4020-060 Rubber Hose

-20

® Swivel Hose End 90°

HF-4004-090 H 7/16 X 20
HF-4008-090 n 3/4X 16
HF-4012-090 1-1/16X12

HF-4020-090

Rubber Hose

Rubber Hose

Rubber Hose

201 1-5/8 X 12 Rubber Hose

"D £ o

® Swivel Hose End 150°

Rubber Hose

HF-4004-150 n 7/16 X 20

Rubber Hose

F4008-150] -8 | J4X16
{F4012-150] 12 | 1171612

HF-4020-150| -20 | 1-5/8 X 12

Rubber Hose

Rubber Hose

LUOFYRECInG

§ Al f
— ] - I

® Swivel Hose End 120°

HF-4004-120 7/16 X 20
HF-4008-120 n 3/4X 16
HF-4012-120 1-1/16X12|  Rubber Hose

Rubber Hose

Rubber Hose

Rubber Hose

HF-4020-120

-20 | 1-5/8 X12

® Swivel Hose End 180°

Rubber Hose

HF-4004-180 n 7/16 X 20
HF-4008-180| -8 | 3/4X 16
HF-4012-180 1-1/16X12| Rubber Hose

Rubber Hose

Rubber Hose

HF-4020-180 1-5/8 X 12

-20

" SAN3 3ISOH aN39 a33ayo3a




O
m
G
20
m
m
O
oo
m
Z
O
I
O
0
m
m
Z
O
n

hleeFal IRGGing

. - - - -,
: v < | i & - B : i b { N B y i
1 . ) | ) ; B, y A ! :
b - = N "_ ] :
: ; ) ; r _ =
i ; . i B | - ' i ] ; i =
S . F o i ;

® Straight Hose Ends

Rubber hose

HF-6004-000 n 7/16 X 20
HF-6008-000 n 3/4X 16
HF-6012-000 1-1/16X12 Rubber hose

Rubber hose

Rubber hose

HF-6020-000 | -20 | 1-5/8 X 12

® Swivel Hose End 45°

HF-6004-045 7/16 X 20 Rubber hose
-8 | 3/4X16
1-1/16X12

1-5/8 X 12

HF-6008-045 Rubber hose

HF-6012-045 Rubber hose

HF-6020-045

-20 Rubber hose

® Swivel Hose End 30°

HF-6004-030 Rubber hose

4+ [ mexa0
5 | axie

1-5/8 X 12

HF-6008-030 Rubber hose

HF-6012-030 Rubber hose

HF-6020-030 -20 Rubber hose

® Swivel Hose End 60°

HF-6004-060 Rubber hose

7/16 X 20
n 3/4X 16
1-1/16X12

-20 | 1-5/8 X 12

HF-6008-060 Rubber hose

HF-6012-060 Rubber hose

HF-6020-060 Rubber hose

® Swivel Hose End 90°

HF-6004-090 Rubber hose

-+ | mnexa0

1-5/8 X 12

HF-6008-090 Rubber hose

HF-6012-090 Rubber hose

HF-6020-090 Rubber hose

-20

® Swivel Hose End 150°

HF-6004-150 Rubber hose

n 7/16 X 20
3/4X16 Rubber hose
1-1/16X12

-20 | 1-5/8 X 12

HF-6008-150

HF-6012-150 Rubber hose

HF-6020-150 Rubber hose

heeFal IRGGcing

e

e Swivel Hose End 120°

HF-6004-120 Rubber hose

4 [mexa
5 |16

-20 | 1-5/8 X 12

HF-6008-120 Rubber hose

HF-6012-120 Rubber hose

HF-6020-120 Rubber hose

® Swivel Hose End 180°

HF-6004-180 Rubber hose

H 7/16 X 20
n 3/4X 16
1-1/16X12

-20 | 1-5/8 X 12

HF-6008-180 Rubber hose

HF-6012-180 Rubber hose

HF-6020-180 Rubber hose

O
AL
Q)
A
m
Tl
O
vy
m
Z
O
I
O
2
m
m
p
O
7




nToFd Racing nTord Racing

] ll-ﬂ..- iii

® Swivel Hose End 90° ® Swivel Hose End 120°

® Straight Hose Ends ® Swivel Hose End 30°

Rubber hose HF-5004-090 Rubber hose HF-5004-120

HF-5004-000 Rubber hose

HF-5004-030 7/16 X 20
HF-5008-030 | -8 | 3/4X 16
HF-5012-030 1-1/16X12

H 7/16 X 20

7/16 X 20 Rubber hose
-8 |3/4X16 | Rubberhose HF-5008-120

n 3/4X 16 Rubber hose
1-1/16X121 Rubber hose

Rubber hose

HF-5008- n Ruber hoe

Rubber hose HF-5008-090

1-1/16X12] Rubber hose HF-5012-120

Rubber hose

SAN3 3SOH AN39 d33493a

'SON3 3SOH aN39 433493a

HF-5012-000 Rubber hose Rubber hose HF-5012-090

HF-5020-000 | -20 | 1-5/8 X 12| Rubber hose HF-5020-030 | -20 | 1-5/8 X 12| Rubber hose HF-5020-090 | -20|1-5/8 X 12 HF-5020-120 |-20 | 1-5/8 X 12

® Swivel Hose End 45° ® Swivel Hose End 60° ® Swivel Hse End 150° ® Swivel Hose End 180°

Rubber hose HF-5004-180

Rubber hose HF-5004-150

HF-5004-045 Rubber hose

HF-5004-060 7/16 X 20
HF-5008-060 | -8 |3/4X16
HF-5012-060 1-1/16X12 Rubber hose

Rubber hose

o
8 |axis

-20 1 1-5/8 X 12

H 7/16 X 20
n 3/4X 16
1-1/16X12

-20| 1-5/8 X 12

n 7/16 X 20 Rubber hose
n 3/4X 16 Rubber hose
1-1/16X12] Rubber hose

201 1-5/8 X121 Rubber hose

Rubber hose HF-5008-150 Rubber hose ' HF-5008-180

HF-5008-045 Rubber hose

Rubber hose HF-5012-180

HF-5012-045 Rubber hose HF-5012-150

HF-5020-045 Rubber hose HF-5020-060 | -20|1-5/8 X 12 HF-5020-150 Rubber hose HF-5020-180




1TOFd Racing LAY RECInG

® 30° Swivel Hose End ® 45° Swivel Hose End ® 120° Swivel Hose End ® 150° Swivel Hose End

HF-4204-120 n Rubber Hose HF-4204-150 n Rubber Hose

"HF-4208-120 n Rubber Hose HF-4208-150 n Rubber Hose
HF-4212-120I - Rubber Hose HF-4212-150] - Rubber Hose

HF-4204-030 H Rubber Hose HF-4204-045 n Rubber Hose

HF-4208-030 n Rubber Hose HF-4208-045 n Rubber Hose
HF 4212- 030 Rubber Hose HF-4212- 045 Rubber Hose

'SAN3 3SOH AN39 a33¥93d
" SAN3 ISOH AN3g d33ayo3a

® 180° Swivel Hose End ® Swivel Sockets

® 60° Swivel Hose End ® 90° Swivel Hose End

HF-4204-060 n Rubber Hose HF-4204-090 H Rubber Hose HF-4204-180 Rubber Hose HF-4204-000 Rubber Hose
HF-4208-060 n Rubber Hose HF-4208-090 n Rubber Hose 'HF-4208-180 n Rubber Hose HF-4208-000( -8 | Rubber Hose

HF-4212-060| - Rubber Hose HF 4212- 090 Rubber Hose HF-4212-180 Rubber Hose HF-4212-000]| -12| Rubber Hose




1TOFd Racing nToFd Racing

z.-,..‘?;

® Straight Cutter Hose End ® 30° Swivel Cutter Hose End ® 90° Swivel Cutter Hose End ® 120° Swivel Cutter Hose End

HF-2203-04 H Rubber Hose HF-2203-3004 . Rubber Hose HF-2203-9004 Rubber Hose HF-2203-1204 . Rubber Hose

HF-2203-08 ﬂ Rubber Hose 'HF-2203-3008 n Rubber Hose 'HF-2203-9008 n Rubber Hose HF-2203-1208 n Rubber Hose
HF 2203 12 Rubber Hose HF- 2203 3012 Rubber Hose HF-2203-9012 Rubber Hose HF-2203-1212 Rubber Hose

 SAN3 3SOH aN3g a33yo3ad
"SAN3 ISOH AN39 d33y93a

® 150° Swivel Cutter Hose End ® 180° Swivel Cutter Hose End

® 45° Swivel Cutter Hose End ® 60° Swivel Cutter Hose End

HF-2203-1504 H Rubber Hose HF-2203-1804 Rubber Hose

'HF-2203-1508 n Rubber Hose HF-2203-1808 n Rubber Hose
'HF-2203-1512 Rubber Hose HF-2203-1812 Rubber Hose

HF-2203-4504 n Rubber Hose HF-2203-6004 n Rubber Hose
'HF-2203-4508 n Rubber Hose 'HF-2203-6008 n Rubber Hose

HF-2203-4512 Rubber Hose HF-2203-6012 Rubber Hose




LUOFY RECING [FD@@F@ R@@ﬂm@

® 30° Swivel Cutter Hose End ® 45° Swivel Cutter Hose End ® 120° Swivel Cutter Hose End ® 150° Swivel Cutter Hose End

HF-2204-3004 H Rubber Hose HF-2204-4504 . Rubber Hose HF-2204-1204 Rubber Hose HF-2204-1504 . Rubber Hose
HF-2204-3008 n Rubber Hose 'HF-2204-4508 n Rubber Hose 'HF-2204-1208 n Rubber Hose HF-2204-1508 n Rubber Hose

HF-2204-3023 12 1-1/16X12| Rubber Hose HF-2204-4512]| -12 |1-1/16X12| Rubber Hose HF-2204-1212] -12 |1-1/16X12| Rubber Hose HF-2204-15121-12 |1-1/16X12] Rubber Hose

G EEL R ELREELE
K EEL T K EEREERBE)

® Hose End Sockets To Suit Cutter
® 180° Swivel Cutter Hose End Style-alloy

® 60° Swivel Cutter Hose End ® 90° Swivel Cutter Hose End

Rubber Hose

HF-2204-0403-00 n

HF-2204-0803-00 n

HF-2204-1203-00 -

HF-2204- 2003 00

HF-2204-6004 n Rubber Hose HF-2204-9004 n Rubber Hose HF-2204-1804 H Rubber Hose
HF 2204-6008 n Rubber Hose HF 2204-9008 n Rubber Hose HF 2204-1808 n Rubber Hose

Rubber Hose

Rubber Hose

HF-2204-6012| -12 |1-1/16X12| Rubber Hose HF-2204-90121 -12 | 1-1/16X12] Rubber Hose HF-2204-18121 -12 11-1/16X12] Rubber Hose

-20 Rubber Hose




1TOFC Racing nToFd Racing

® Straight Push Lock Hose End ® 30° Push-on Hose End ® 90° Push-on Hose End ® 120° Push-on Hose End

HF-4104-001 n Rubber Hose HF-4104-030 n Rubber Hose HF-4104-090 Rubber Hose HF-4104-120 . Rubber Hose
HF-4108-001 n Rubber Hose " HF-4108-030 H Rubber Hose "HF-4108-090 n Rubber Hose HF-4108-120 n Rubber Hose

HF-4112-001] -12 1-1/16X12 Rubber Hose HF-4112-030] -12| 1-1/16X12| Rubber Hose HF-4112-090 | -12 |1-1/16X12| Rubber Hose HF-4112-120 |-12 |1-1/16X12| Rubber Hose

G EEE R NELEREENRE[
"SAN3 3ISOH aN3g a3aaxo3aa

® 180° Push-on Hose End

® 150° Push-on Hose End

® 45° Push-on Hose End ® 60° Push-on Hose End

HF-4104-045 u Rubber Hose HF-4104-060 H Rubber Hose HF-4104-150 H Rubber Hose HF-4104-180 . Rubber Hose
'HF-4108-045 n Rubber it ' HF-4108-060 n P —— HF-4108-150 n Rubber Hose HF-4108-180 ﬂ Rubber Hose

HF-4112-045| -12| 1-1/16x12| Rubber Hose HF-4112-0601 -12| 1-1/16X12] Rubber Hose HF-4112-150 | -12 |1-1/16X12] Rubber Hose HF-4112-1801 -1211-1/16X12] Rubber Hose




LUOFY RUCInG nTord Racling

® 30°Push Lock Hose End ® 45° Push Lock Hose End ® 120° Push Lock Hose End ® 150° Push Lock Hose End

HF-4504-030 H Rubber Hose HF-4504-045 n Rubber Hose HF-4504-120 Rubber Hose HF-4504-150 Rubber Hose
HF-4508-030 n Rubber Hose HF-4508-045 n Rubber Hose 'HF-4508-120 n Rubber Hose HF-4508-150 n Rubber Hose

HF-4512-030 | -12 1-1/16)(12 Rubber Hose HF-4512-045 | -12| 1-1/16X12| RubberHose HF-4512-120 | -12 1-1/16X12 Rubber Hose HF-4512-150 |-12 |1-1/16X12] Rubber Hose

E N EER I EEKEEERE)

 SAN3 ISOH aN3g d33y¥o3a

® 180° Push Lock Hose End

® 60° Push Lock Hose End ® 90° Push Lock Hose End

HF-4504-060 u Rubber Hose HF-4504-090 H Rubber Hose HF-4504-180 H Rubber Hose
HF-4508-060 n Rubber Hose HF-4508-090 n Rubber Hose " HF-4508-180 n Rubber Hose

HF-4512-060 | -121 1-1/16x12| Rubber Hose HF-4512-090 | -12| 1-1/16X12| Rubber Hose HF-4512-180 | -12 |1-1/16X12| Rubber Hose




'SAN3 3SOH AN3I9 d33493d

TR RaCIng

® Straight PTFE Hose End

PTFE Hose

{F4603-00 .

HF-4606-001 n
HF 4610-001 m

HF-4616-001

PTFE Hose

PTFE Hose

1-5/16X12| PTFE Hose

-16

® 45° PTFE Swivel Hose End

PTFE Hose

{F-4603- 045
HF-4606-045 H

HF-4610-045 m

HF-4616-045| -16 | 1-5/16X12

PTFE Hose

PTFE Hose

PTFE Hose

® 30° PTFE Swivel Hose End

PTFE Hose

HF-4603-030
'HF-4606-030 H
HF-4610-030 m

HF-4616-030

PTFE Hose

PTFE Hose

-16 PTFE Hose

1-5/16X12

® 60° PTFE Swivel Hose End

PTFE Hose

o .
HF-4606-060 ﬂ

HF-4610-060 m

HF-461 6 060

PTFE Hose

PTFE Hose

-16] 1-5/16X12 | PTFE Hose

® 90° PTFE Swivel Hose End

PTFE Hose

HF-4603-090 .
HF-4606-090 n

HF-4610-090 m

-16 |1-5/16X12

PTFE Hose

PTFE Hose

PTFE Hose

HF-4616-090

LAY RaCIng

® 120° PTFE Swivel Hose End

PTFE Hose

— .
HF-4606-120 H

HF-4610-120 m

-16 1-5/16X12

PTFE Hose

PTFE Hose

PTFE Hose

HF-4616-120

® 150° PTFE Swivel Hose End

PTFE Hose

T—
HF 4606-150 H

HF-4610-150 m

-16 1-5/16X12

PTFE Hose

PTFE Hose

HF-4616-150 PTFE Hose

e 180° PTFE Swivel Hose End

PTFE Hose

HF-4603-180 .
HF-4606-180 ﬂ

HF-4610-180 m

-16 |1-5/16X12

PTFE Hose

PTFE Hose

HF-4616-180 PTFE Hose

"SAN3 3SOH aN3Ig9 d33ays3a




LUOFY RECING LUOFYRECING

® One Piece PTFE Hose End ® 30° One Piece PTFE Swivel Hose End ® 90° One Pibe PTFE Swivel Hose End ®120° One Piece PTFE Swivel Hose End

{F2205.0400) 4 | 7n6xc0 | rEEhese  HE2205 0430 1£2205-0490 u ehe  HEZ2050012 n
HF2205-0800| -8 | 3/4X16 | PTFE Hose HF2205-0830 n PTFE Hose HF2205-0890 H PTFE Hose HF2205-0812 n PTFE Hose

"SAN3 3ISOH aN3g a3ayo3aa

SAN3 4SOH AN4d49 dd3494d

®150° One Piece PTFE Swivel Hose End ® 180° One Piece PTFE Swivel Hose End

® 45° One Piece PTFE Swivel Hose End @ 60° One Piece PTFE Swivel Hose End

HF2205-0415 n PTFE Hose HF2205-0418 n PTFE Hose
'HF2205-0815 ﬂ PTFEHose HF2205-0818 n PTFE Hose

HF2205-0445 u PTFE Hose HF2205-0460 n PTFE Hose
HF2205-0845 n PTFE Hose HF2205-0860 E PTFE Hose




hleeFal IRGGing

® 30° Full Flow Teflon Hose End

HF-4303-030 . PTFE Hose
HF-4306-030 H PTFE Hose
HF-4310-030 m PTFE Hose

HE- 4316 030 16 1-5/16 X 12| PTFE Hose

'SAN3 3SOH dN349 d33493d

® 60° Full Flow Teflon Hose End

HF-4303- 060 PTFE Hose
HF 4306-060 H PTFE Hose
HF-4310-060 m PTFE Hose

HF-4316-060 | -16 |1-5/16 X 12| PTFE Hose

® 45° Full Flow Teflon Hose End

PTFE Hose

HF-4303-045 .

HF 4306-045 H
HF-4310-045 m

HF-4316- 045

PTFE Hose

PTFE Hose

PTFE Hose

-16 | 1-5/16 X 12

® 90° Full Flow Teflon Hose End

Sy .
HF 4306-090 H
HF-4310-090 m

-16 | 1-5/16 X 12

PTFE Hose

PTFE Hose

PTFE Hose

HF-4316-090 PTFE Hose

HigoFa Rasing

- . AN A Y e &
| v > ;.' f I'i'. .:._E._ -'1'.‘_'._’.;1.&-_‘.)"\' a

. — "'EF-T'ﬂ- e N M ;1 &9 b Y
TN R Hﬁmj » W L'_-"E SRS -
3 » B I\ 1 it operiim S

® 120° Full Flow Teflon Hose End ®150° Full Flow Teflon Hose End

{F4303-120 .

HF-4306-120 H
HF-4310-120 m

HF- 4316 120 16 [1-5/16 X 12

{F4303 180

HF-4306-180 H
'HF-4310-180 m

HE- 4316 180! -16 |1 5/16X12

®180° Full Flow Teflon Hose End

PTFE Hose HF-4303-150 PTFE Hose
PTFE Hose HF-4306-150 H PTFE Hose
PTFE Hose HF-4310-150 m PTFE Hose

PTFE Hose HF-4316-1501-16 | 1-5/16 X 12| PTFE Hose

PTFE Hose

PTFE Hose

PTFE Hose

PTFE Hose

E N EER K EENEENBE)



LUOFY RECING LUOFYRECING

®45° Female Forged Elbow ® 90° Female Forged Elbow ® NPT Straight Hose End 045° NPT Swivel Hose End

HF-4904-045 H Rubber Hose HF-4904-090 n Rubber Hose

HF-4908-045 n Rubber Hose HF-4908-090 n Rubber Hose
HF-4912-045 Rubber Hose HF-4912-090 Rubber Hose

HF-4706-000-1 H Rubber Hose
HF.4708-000.2 n o
HF- 4710 ooo 1 -3/3 NPT
o dlala -1/2" NPT o

HF-4706-045-1 H Rubber Hose
HF-4706-045-3 ﬂ H
HF-4708-045-2 ﬂ ber H
HF-4710-045-1 m Re jos
HF-4712-045-
HF-4716-045-1 -3/4 NPT Re

N EELR T R EEKEENRE)

 SANd 3SOH ANd9 334930

> > PTFE FORGED ELBOW

©45° PTFE Forged Elbow ® 90° PTFE Forged Elbow

HF-4706-090-1 H Rubber Hose
©90° NPT Swivel Hose End HF-4712-090-1 |1/2 e
HF 4716 090 1 -3/4 NPT u H

HF-5003-045 . PTFE Hose HF-5003-090 . PTFE Hose
HF-5006-045 n PTFE Hose HF-5006-090 H PTFE Hose

HF-5010-045 m PTFE Hose HF-5010-090 m PTFE Hose




LUOFY RECING LUOFYRECING

® Male AN Atraight Hose End ®45° ORB Swivel Hose End ®45° Female Forged Elbow ©90° Female Forged Elbow

HF-4904-045 Rubber Hose HF-4904-090 . Rubber Hose

HF-4908-045 n Rubber Hose HF-4908-090 n Rubber Hose
HF-4912-045 Rubber Hose HF-4912-090 Rubber Hose

HF-4804-000 H Rubber Hose HF-4806-045-1 H Rubber Hose

HF-4806-045-3 ﬂ Rubber Hose
HF-4808-045-1 n Rubber Hose

HF- 4808 045-3 “ Rubber Hose
®90° ORB Swivel Hose End HF-4810-045- 2 Rubber Hose > > FORGED STYLE CUTTER HOSE ENDS
HF- 4812 045 1 Rubber Hose
HF-481 -045-1 m Ruer H

HF-4808-000 n Rubber Hose
HF-4812-000 Rubber Hose

'SAN3 ISOH AN3I9 d33¥93d
"SAN3 3ISOH aN3g a3ayo3aa

Rubber Hose

oo s o

HF-4806-090-3 H
HF-4808-090-1 n

HF-4808-090-3 n
HF-4810-090-2 m

HF-4812-090-1
HF-4816-090-1 m

Rubber Hose

HFANCUT2206-6-2D
HFAT--D 3" T
ANCUT220¢ _3" NT
TrT—rry— p—

oNPT Straight Cutter Hose End  HFANCUT2206-12-8D

Rubber Hose

_ Rubber Hose
Rubber Hose '

HFANCUT2206-8D Rubber Hose

Rubber Hose

Rubber Hose

Rubber Hose

Rubber Hose

Rubber Hose

Rubber Hose

3/4" NPT

HFANCUT2206-16-12D

Rubber Hose




nTOFd Racing 1TOFY Racing

y -
.-’/ . .
7 : ;
)"'. =
r i : _
-"'J-.-- 2 y
s g - .- =
-~ S - - =
o = N " g y . . . ) . -
, o - ., o 5
" I' ; . ”_JI
d i
L | - 4 ¥
_ g € s ' ' | -
. 7. i W v
P d = - it 2 y
: j_:;' - o= = o

® 45° NPT Swivel Cutter Hose End @90° NPT Swivel Cutter Hose End 0 45° ORB Swivel Cutter Hose End @90° ORB Swivel Cutter Hose End

HFANCUT2206-456-2D 1/8” | Rubber Hose HFANCUT2206-906-2D 1/8" Rubber Hose HFANCUT2207-456-1 n Rubber Hose HFANCUT2207-906-1 Rubber Hose

HFANCUT2206-456-D | 3/8" | Rubber Hose HFANCUT2206-906-6D | 3/8" | RubberHose HFANCUT2207-456-3 | -6 | RubberHose HFANCUT2207-906-3 | -6 | RubberHose

SAN3 3SOH dN39 d33493a

HFANCUT2206-45-8D 3/8" | RubberHose HFANCUT2206-90-8D 3/8" Rubber Hose HFANCUT2207-458-1 m Rubber Hose HFANCUT2207-908-1 n Rubber Hose

"SAN3 3SOH aN3g a3ays3a

HFANCUT2206-4510-6D - Rubber Hose HFANCUT2206-9010-6D - Rubber Hose HFANCUT2207-458-3 m Rubber Hose HFANCUT2207-908-3 | -10 |  Rubber Hose
HFANCUT2206-4512-8D - Rubber Hose HFANCUT2206-9012-8D - Rubber Hose HFANCUT2207-4510-2 m Rubber Hose HFANCUT2207-9010-2 m Rubber Hose
- HFANCUT2206-4516-12D - Rubber Hose HFANCUT2206-9016-12D - Rubber Hose HFANCUT2207-4512-1 m Rubber Hose HFANCUT2207-9012-1 m Rubber Hose

HFANCUT2207-4516-1| -12 | Rubber Hose HFANCUT2207-9016-1 Rubber Hose

HFANCUT2206-6 - Rubber Hose

NLU 1 22V0-0 \UbDEr HOse ® 45° Cutter Female Forged Elbow ® 90° Cutter Female Forged Elbow
HFANCUT2206-10 | -10 | RubberHose

HEANCUT2206-16 1 216 1 Rubper Hoce @ Male AN Straight Cutter Hose End
HFANCUT2208-456 - Rubber Hose HFANCUT2208-906 - Rubber Hose

HFANCUT2208-4510 | -10 | Rubber Hose HFANCUT2208-9010 | -10 | Rubber Hose

4 0 HFANCUT2208-4516 | -16 Rubber Hose HFANCUT2208-9016 | -16 Rubber Hose 41



LUOFY RUCInG nToFd Racing

HF2210-4 AL/SS Red/Blue/Black/Raw

® Tube To Female ® Tube To Male ® Replacement Hard HF2210-6 Rd”B.cR
AN Adapter AN Adapter Line Olives 910-8 | 127 | T

‘INIT AYVH
"INIT AYVH

HF2210-10| 5/8" AL Red/Blue/Black/Raw

HF-5113-4 | -4 | 1/4"

HF-5113-6 | -6 | 3/8"

® Tube Straightener Tool

- HF-5113-10 | -10 | 578"
HFM2209-06 | -6 | 3/8" HF-5113-12 | -12 | 3/4

HFF2209-06 ﬂ 3/8"

HFF2209-10 |-10| s/8" HFM2209-10 |-10 | 5/8"

Coiled tubed is impossible to make perfectly straight with just your hands, however this tool, placed in a
vice will straighten that coiled pipe in seconds and give the pipe project an immediate professional look
with almost no work from you. so simple, so necessary!

® AN Tube Nuts ® AN Tube Sleeves
HF-923-3 ALBR.SS.ST HF-924-3 AL.BR.SS.ST
HF-923-6 | 6 |5/16&3/8"| ALBR.SS.ST HF-924-5  |5/16" | AL.BR.SS.ST
HF-923-10 | 10 |5/8"  |ALBRSS.ST  HF-924-8  |1/2"

HF-923-16 | -16 | 1" AL.BR.SS.ST HF-924-12




nToFd Racing 1T Racing

® AN Male To Metric Female Adapter (A) (B) = SX bed ; -

o Flare Reducers ® Straight Bulkhead AN ® 45° Bulkhead AN

HF2211-06-M1210 M12X1.0 Dart N o] - Part Nc Viaterial ~ PartNo
HF2211-06-M1215 T HF-823-3 -3 | ALSS.ST | HF-822-3 -3 | ALSS.ST
HF2211-06-M1415 M14X1.5 HF854-0604 “- ALSS,STBR - F | ALSSS
2911 _NE_ N1 1 C ol IF854-080¢ HF- 823 6 “ AL.SS.ST HF- 822 6 “ AL.SS.ST
HF854-1006 -[-“ AL, SS ST BR \L.SS.S1
S HF 323 10 -n- AL.SS.ST HF- 822 10 m AL

HF2211-08-M1210 | Ans |  mi2x10

N8 | M14X1.5

SY3ILdVaAyv B SONILLI4 ISOH’

SyHd1dvayv ® SONIL1lld 3SOH

® Bulkhead AN Tee On The Rum

® ORB To Metric Female Adapter ® NPT Male Couplers
. . - ® 90° Bulkhead AN

HF-821-3 ALSS.ST

HFAN2213 04 AL.BR. ss ST

HFAN2212-06-M1215 M12X1 AL BR SS ST

HFAN2212-08-M1215 M12X1 AL BR SS ST HFAN2213 08 AL.BR.SS. ST

HF -824-6 "6 | ALSSST
HE- 82410 0 | AL
HF-824-16 | -16

= 2
T,
.. -I‘H‘ ; .-
¥ > .
= - c
= y B,
= N
& g
h
1

® NPT Pipe Reducers (A) ® AN Flare Caps ® AN Swivel Nut Flare Caps

HF-824-3 ALSS.ST

HEF- 821 6 6 ST
HF- 821 10 10
HF-- 16 AL

"HFAN2213-12 ALBR.SS.ST

® ORB To Metric Adapter

HFAN2214-06-M1215 | AN6 | M12x15 | ALBRSS.ST

HF849-3 AL.s.T-R HF-850-3

HF2215-1/4-1/8 _- AL BR SS.ST < ST BR 85 | AL.SS.ST.BR
e " HF- 349 6 -6 | ALSS.STER HF-850-6 | -6 | AL.SS.ST.BR

HF21 3/8 -1/4 —— AL BR ss ST

HFAN2214-08 M1615 | AN

HF2215 1/2 1/4 __ AL BR ss ST

HF2215 3/4 1/4 _- AL BR ss ST
HF2215-3/4-1/2 127 3/4" | ALBR.SS.ST

HF-849-10_| -10 _HF-850-10 | 10

HF 849 16 16 AL--T- HF--1 -1




. Sd31dvAdV ® SONILLId 3SOH

nTOFY Racing

® Bulkhead AN Tee

HF-825-3 M12X1.0
HF 825 6 A | 11
HF 825 10 AN M12X1.0

|.||:_2 5-16 AN1 M14X1.5

® 45°Full Flow Bulkhead AN

HF-2216-4 n Blue / Black /Silver
HF-2216-8 “ Blue / Black /Sllver

F-26—12 -1 Blue / Black /Sllver

® 90°Full Flow Bulkhead AN

4 Blue / Black /Sllver

HF-2217-12 12

"'F' '4

78 Blue / Black /Sllver

Blue / Black /Sllver

HF-824-3 AL,S5,5T
HF-824-6 AL,SS,ST
HF-824-10 ' AL SS,ST

HF-824-16 | -16 AL ST

® AN Flare Plugs

HF-847-3
HF-847-6

' HF-47- _
HF-847-16 | -16 | AL

® AN Flare Caps
HF-2218- 3B AL.BR.SS.ST
6 | -6 |ALBRSSST

HF- 2218 6B
HF- 2218 1OB

HF-2218-168

Hﬂ MHW. s

2L | W .
O Male Flare Union

_ H1 603-3
HF- 1606 6 6| ALSS. '
HF161010 10 ALSSSTBR
HF-16-1 18 AL.S.T.R

® 90° Male Flare Unlon AN

HE- 8113 3 4 AL.S.T
HF-8116-6 | -6 | ALSSST
HF-81110-10] 10 | AL
HF-81116-16 -16 |

® 45°Full Flow Unlon AN

HF-7‘|- B’Iue/ Black/ Silver
HF 71 6 “ BIue/BIack/S|Iver
HF 871 10 - BIue/BIack/SHver

HF 871 16 m BIue/BIack/Sllver

LUOFY RECInG

® 45° Male Flare Union AN

HF- 8103 3 - AL..T
F-- 6 ALSS.ST
o | A
HF-8116-16 | -16 | AL

® Flare Tee AN

_ HF-8143-3 ALSS.ST
HF-8146-6 | -6 | ALSSST
HF81410-10]_10_|_A

HF-81416-16] -16

® 90°Full Flow Union AN

' HF-87-3 BIue/Iak/SiIver
HF- 872 6 n BIue/BIack/Sﬂver
HF- 872 10 Eﬁl BIue/BIack/S|Iver

HF- 872 16 m BIue/BIack/SHver

'SH3I1LdVAVv ® SONILLI4 ISOH




1UOFC RaCIng

_ - . ) = L L PR
"‘ I | i il ! B E: '''''

o Stralght Female Swwel Coupler

HF 4403 001 - Blue Red / Black/ Silver

HF 44 n m Blue Red Black Sllver
HF 4410 001 E[ﬂ Blue Red Black Sllver
HF 4416 001 -16 Blue Red / Black/ Sllver

o 30°Female Swivel Coupler

HF 4404 030 E- 7/1 6X20 Blue Red / Black/ Sllver
HF 44 n n ES- 3/4X16 Blue Red Black Sllver

- SHd1dvVAV ¥ SONILLId dSOH,

® 90°Female Swiel Couple

HF 4403 090 3/8X24 Blue Red / Black /Sllver

HF 4406 090 ﬂ 9 16X18 Blue Red / Black /Sllver

HF 4410 090 HI]-LM_ Blue Red / Black /Sllver
HF-4416-090 -16 1-5/1 6X12 Blue Red / Black /Sllver

® 150°Female Swivel Coupler

HF 4404 150 - Blue Red / Black /Sllver
HF-440 l ﬂ Blue Red/ Blaok /Sllver

0 45 Female Swwel Coupler

4 ks

|-||: 4403 045 - Blue Red / Black/ Sllver
HE- 4406 045 ﬂ Blue Red Black Sllver
-||: 4410 045 Eﬁ] Blue Red / BIack/S|lver
-IF 4416 045 16| 1 5/16X12 Blue Red/BIack/SIIver

B 60 Female Swwel Coupler

HF-4404 060 7/1 6X20 Blue Red/ BIack/S|Iver
HF 44 n l[@‘ 3/4X16 Blue Red Black Sllver

'30

o 120°Female Swwel Coupler

HF-4404 120 - BIue—Red / Black / Silver

HF-4408 120 B BIue—Red / Black/ S|Iver

nn

® 180°Female Swivel Coupler

HF-4403-180 Blue Red / Black/S|Iver

HF 4406 180 ﬂ B ue- Red Black Sllver
HF-4410-1801 -101 7/8x14 | Blue-Red / Black / Silver

less ete‘el SS), zinc ¢ ple?"ﬁ'fff'd steel(ST)

® 90° Forged Female Swivel Couplers

HF 828 3 L sT

HF 828 6 /44 ALSS ST

HF 82810 m AL
HF-828-16 | -16

® NPT Female Couplers

HF- 831 1/8" NPT AL ss sr BR
HF 831 3/8" NPT [AL. ss sr BR
HF 831 3/4” NPT AL ss sr BR

® NPT Female P|pe Tees

HF 829 1/8" - Blue/Black/Sllver

HF- 829 3/8" Blue/ BIack/S|Iver
HF- 829 3/4" - BIue/BIack/S|Iver

‘ ’ Im
;
|
|

HF- 827 6 6
HF- 827 10 m AL
HF-827-16 | -16 | AL

o 90°NPT Female Couplers

HF- 820 1/8" - BIue/Black/Red

HF 820 3/8"
HF 820 3/4" -

' 8' | Blue / Black/ Red

Blue/ Black/ Red

® Female Tee ORB

HF-80 - BIue/Black/S|Iver
HF 330 6 n BIue/BIack/Sllver

HF 830 10 lﬁl BIue/Black/S|Iver

HF 830 16 -16 Blue/BIack/S|Iver

LAY RaCIng

® 45° Forged Female Swivel Couplers

'S¥31dvayv ® SONILLI4 ISOH




hlceka R@@ﬂm@ LUOFYRECInG

nium(AL), brass(BR stalnless steeI(SS) zinc plated steel(ST)

® 45°NPT Female Pipe Tees ® 90°NPT Female To Male NPT

® 45°NPT To Male Flare Adapters ® 90° NPT To Male Flare Adapters

HF-817-3 1/8"

HF-816-AN3 | -3 | 1/8'
HF-816-AN4 | 4 | 1/8’
HF-816-ANA-2 | -4 | 38’
HF-816-AN6-1 | 6 [ /4"
HF-816-AN6-4 | -6 | 1/2’
HF-816-AN8-1 | -8 | 3/8°
HF-816-AN8-4 | -8 |  3/4’

HF-818-1-1/4" | 1-1/4"|  Blue/Black / Silver
HE816-ANIO T 10 | 172
HF-816-AN12

™ HE-816-AN16 HE- 3/4"

®45° Female/ Male are Swwel 090°Female / Male Flare Swwel HF-816-AN20 | -20 T

HF-818- 1/8" 1/8” | Blue/Black/Silver HF-819-1/8" | 1/8" | Blue/Black/Silver

HF-817-4 _ 1/8"

HF 818 3/8" 3/8" | Blue/Black/Silver

HF-819-3/8" 3/8" Blue / Black / Silver

2" | Blue/Black/Silv T . s _ ——rr -
HF-81 8-3/4"'r 3/4" Blue / Black / Silver HF-819-3/4" | 3/4" Blue / Black / Sllver 8

HF-819-1-1/4" | 1-1/4" Blue/ Black/ Sllver 17 ' 2"
HFM781 : 1/4"
HF-817-8-3 3 1/2"
HF-817-10 112
HF - 817-10-2
HF-817-16

- SY3I1dVAVv ® SONILLI4 ISOH,
'SY3I1dvayv ® SONILLI4 ISOH

HF-83 AL. SS ST
HF-833-6 6 ALSS. ST
HF-833-16 16 '

-l- | [ T e » — =
- .|||.||' e i
i i \ ! A 1\ L
1 B [:
2 T ‘-I
" | i
+ N
Y | | . |
/
{ -
g
Tr =
|
N II
1
4 3
o
e AR IR
2

® AN Tee One Side Female Swwel

HF-834-3 AL.SS.ST

AL.SS.ST

HF-834-6

_-.-[ m =

HF-834-10

)

HF-834-16

® Tee With One Side NPT

812318 /" ® Tee With One Side. NPT
HF- 81261/4 | 6 1/4"

HF- 812101/2 AL 1/2"
HF-81216-1" | -16 &

® AN Tee One Side Female Swivel

HF-8133-1/8 1/8"
HF-8136-1/4 | -6 | /4’

HF-836-3 AL.SS.ST

HF-836-10 | 10 AL
HF-836-16 16 AL

HF-835-3 AL.SS.ST

HF-835-6 | 6 |  ALSSST
HF-835-10 0
HF-835-16 16 AL

HF-81310-1/2 [ -10 | 172"
HF-81316-1" | -16 | 1"

HEg1320-1" |20 |

HF-81220-1" | -20 1”




hleeFa IRaCing LUOFY RECInG

3 e
S LN ] N L N __ ]

— = et W + B F Iy AF°
. R Sl P . = A -
W el e S
o sl
- - I - . e
- -
. -
= st ==
; - " 3 B BR_ R D == = == == Y &l 9l
Y. 3 1
S . | 1 k Cic { . B e
T & F v " e A d 7 b , | | l ) S : _.'.- %

Material: anodised aluminium(AL), brass(BR), stainless steel(SS), zinc plated steel(ST)

—

—— B

" ﬂfwﬁz‘*-ﬁ =

it

® 90° ORB Swivel To Male AN

® 45°NPT To AN Full Flow Adapters ~ ® 90°NPT To AN Full Flow Adapters HF_ : /, Part
HF-873-3 178 HF-7-3 ' 3 F___1 v e

'
172"
3/4°
3/4"

HF2220-6-3

6

HF-873-4-1 / 4 |.||:_74-_1 HF-846-6- HF2220-6-7 | -6
873-6 178 874-6-2 HF-846-6-3 3/8" i S

HF-873-6-1 1/4" HF-874-6-3 Toee 4 HF222069 | -6

HF-873-6-3 1/2" HF-874-8 S | 2220
o o HF-874-10 HF-846-8-3 1/4" HF2220-8-4

HF2220-12-1
HF2220-16-1

HF_ =y _1 HF-874-10- SAE1C
: _ LTk HF-846-10-2 1/2"
F-3-0 HF-874-12-1 846-12 1/2°

HF-846-12-2 3/4"

HF-846-16-2

T
O
192
T
L
-
-
Z
®
7
Qo
>
O
>
U
_|
[Tl
2
0

 Sd31dvVAV ® SONILLI4d dSOH,

. _ | : 1

HF-873-10-2

HF-873-12-1

i ® 90°Metric Swivel To Male AN
® 90°Metric Swivel To Female AN S

® 90°NPT Swivel To Male AN Flare

HF2222-65 | -6 | M12X1.25

® Male NPT To Female AN Straight et |6 | iz

HF-845-AN3 1/8"

F-5-A-1/4
F--N-1/
HF-845-ANG-1/2
HF-45-A

/ "

AN

HF2219-3D 1/8"

HF2219-4-4D 1/4"

" ® 90°Female AN Swivel To Male

38"
3/4°

HF2219-6D 1/4°

® 45°Female AN Swivel To Male

HF2219-7D 14" HF-845-AN10-1/

HE8704 Al
HF-8708 | -8 |  3/4X16

—h
N

HF-845-AN12-3/4
HF-845-AN16-3/4

HF-869-4 | -4 | 7/16X20
HF-8698 | 8 | 3/aXl6

HF2219-8-6D. 172

| _ 1 _ J ' ' | 1 i

HF2219-10D 1/2"

HF-870-12 1-1/16X12

HF2219-12D 1 3/4"

HF-869-12 1-1/16X12

HF2219-16D 16 1"




L SH31dvdVv ® SONILLId 3SOH

nToFd Racing

® ORB To AN Male Flare Adapters

HF-1503-3

HF- 0
HF-1

:
HF-1508.8-4
HF-1 508 8
HF 1 508 8 12
HF-1510-10-6
510-10-16
HF-1 1 - - 6
516-16-12
1 -1 -20

1

IR

EN TN
4| 4
ENE
6 | -4
£l
NN
ENE.
EAEN
ENES
ol
0] o
EIETH
12| 10
2] o
6

£

20| -20

AL.BR.SS.ST

L..ss.

AL BR SS ST
AL BR SS ST

AL.BR.SS.ST

AL.BR.SS.ST

AL.BR.SS.ST

AL.BR.SS.ST

AL.BR.SS.ST

ALBR.SS.ST

L.R.SS.ST
L.T

® NPT Hex Head Plugs

HF2223-04
HF2223-08

HF2223-12

® NPT Plugs

HF2224-01
HF2224-03
HF2224-05

HF2224-07

1/8"
3/8"

3/4"

H'

1/16"
1/4"

1/2"

AL.BR.SS.ST
AL.BR.SS.ST

AL.BR.SS.ST

AL.BR.SS.ST

AL.BR.SS.ST

AL BR SS ST

AL BR SS ST

o ______'-'

@ AN To NPT Straight
HF-AN816-3-1/16" -3 1/16"
HF- AN816 3- 1/4 -3 1/4
HF- AN816 4—1/8 n 1/8

HF- AN816 4- 3/8 -4 3/8

HF- AN816 6--1/4 ﬂ 1/4

HF- AN81661/2 ﬂ 1/2

HF- AN816 8 1/4 ﬂ

HF- AN816 3 1/8 ﬂ
HF- AN816 8 3/4 ﬂ
HF-AN816-10-1/2 EE]

HF- AN816 12 3/8

HF AN816 12 3/4
HF- AN816161 mI-

HF AN816 20 1/4

ii

® AN To BSP Adapter

H FAN816-08-10BSPP

HFAN816-12-10BSPP

AL.BR.SS.ST
AL BR SS ST

AL BR SS ST

AL.BR.SS.ST
AL BR SS ST

AL BR SS ST

AL BR SS ST

AL BR SS ST

AL BR SS ST

AL BR SS ST
AL BR SS ST
AL BR SS ST
AL BR SS ST

AL BR SS ST

1UOFd Racing

® ORB Port Plugs
HF- 8483 - AL.BR.SS.ST
HF- 848 6 ﬂﬂ AL.BR.SS.ST
HF-848- 10 mm ALBR.SS.ST
HF- 848 16 mm ALBR.SS.ST

o ORB Port Plugs Sllmllne

HF2225 033 - AL BR ss ST

HF2225 06B ﬂﬂ AL. BR ss ST
HF2225 103 mm AL BR SS ST

HF2225 16B mm AL. BR ss ST

37°Conical Seal

HF2226-06

HF2226-10 19.55mm

'SYI1dVAV ® SONILLId ISOH!




HF- 1403 M10X1 0
HF 1403 M10X1 5

HF- 1403 M12X1 25
HF—1 404-M6X1 0

HF 1404 M8X1 25
HF 1404 M10X1 25

SHd31dvAV ® SONIL1I4 3SOH,

HF- 404-M1 2X1.0_

404-M12X1.5

HF-1406-M1 '

s
' 1.25
HF 1406 M14X1 5
HF 1406 M16X1 5
HF-1406-M19X' .25

HF-1408-M10X1.0

heefa IRaEing

® Metric To Male Flare Adapters

- ALBRSS.ST
ALBR.55.5T

M12X1.25 ALBR. ss ST

n AL BR ss ST
EI AL.BR..ST
El .5 L...
n AL. BR ss ST
n ALBR. ss ST
ﬂ AL. BR ss ST
ﬂ AL BR ss ST
ﬂ AL. BR ss ST

n ALBR ss ST
n ALBR. ss ST

ﬂ ALBRSS. ST
ﬂ AL BR ss ST

n M10X1 0 AL BR ss ST

HF- 1408 M10X1 LD

HF 1408 M12X1 0

HF- 1408 M12X1 5

HF 1408 M24X1 5

HF-18-1.5

HF-1410-M12X1.25

HF-1410-M14X1.5

HF-1410-M20X1.5

HF-1410-M24X1.5

HF-1412-M12X1.25

HF-1412-M14X1.5
—-181 5

HF-1412-M22X1.5

HF-1 5

n ALBRSS.ST

_ﬂ AL BRSSST

n M12X1.5 ALBRSSST

_ﬂ AL. BRSSST

“ AL BR ss ST
ﬂ AL BR ss ST
[E_] AL.BR.SS.ST
_11 ALBRSSST

_!El M18X15 ALBRSSST

EEI M20X1 5 AL BR ss ST
EEI M24X1 5 AL. BR ss ST
M12X1 25 AL BR ss ST

- AL.BR. ss ST

ALBRSS.ST

ALBR.SS.ST
16| M40X15 | ALBRSS.ST

® Male Flare Reducers

HF-1704-3

HF-1706-4

HF1 : l.
HF-1710-8
H- 1 -
71210
HF1 1 -1

HF-1720-16

- ALBRSS.ST
n- AL BR ss. ST
m“ AL BR ss ST
mm AL. BR ss ST

m AL. BR. ss ST

m AL BR ss ST
m AL. BR. ss ST

-20 -16 AL.BR.SS.ST

® AN Flare Reducers Female/male

HF-853-4-3 3(3/3)(24) AL,SS,ST,BR

L5, STBF

HF- 853 106 LSSSTBR
HF- 853128 LSSSTBR

HF-853-16- 12 6(1-5/16X12)112(1-1/16X12)}A LSS ST BR

LUOFYRECING

® Male Flare Reducers

HF2227 03 ALBR.SS.ST
HF2227 06 ﬂﬂ ALBR.SS.ST
HF2227-10 mm AL.RS.ST

HF2227-16 | -16 | -16 | ALBR.SS.ST

B

A

SY31dvayv ® SONILLI4 ISOH

@ AN FIare Reducers Female/male

HFssz 3 ALSST
HF85286 ALBRSSST
' HF 852108 ALBRSSST
HF- 8521612ALBRSSST

Metric Plug




'SYI1dVAV ® SONILLIA ISOH

LUOFY RaCIng

® Male NPT To AN With 1/8"Port

n— ALSSSTAR

AL SS ST BR

1/4

HF-851 -4-3 _ HF-858-6 AL, SS ST,BR

HF- 851 6 3 ' ELakn o

HF- 851 6 8 HF-858-10 12"
HF-851-8-6 8

HF-851-10-6

HF-851-12-8
F-851-12-10 o Stralght Female To Male With 1/8"Port
HF-851-16-12

HF-857-3 - ALSS,STBR

HF 8576 “ 1/8" NPT AL SS,ST,BR
HF- 857 10 -m AL,SS,ST,BR

HF-857-16 | -16 1 1/8° NPT | ALSS.ST.BR

® Male AN To PT

HF-1203-1/8X28PT | -3 1/8X28p‘t AL.BR.SS.ST
HF-1204-1/4X19PT| -4 |1 /4X19pt ALBR.SS.ST
HF-1206-1/4X19PT ﬂ 1/4X19pt AL BR SS ST
HF-1208-1/4X19PT n 1/4X19pt ALBR. ss ST

HF-1208-1/2X14PT n 1/2X14pt JAL. BR. SS ST

HF- 1210—1/2X14PT m JAL. BR SS ST

HF-1212-1X11PT AL BR SS ST

o Inverted Flare Adap-térs To AN

1UOFY RacIng

o Straight AN Male To BSP Male

HF1904 1/4x19 !‘l 14X19 ALBRSSST
HF190614X19 6 14X19
HF1906 1/2x14 ﬂ 1/2X14 ALBRSSST

HF 1908 3/8X19 n 3 8X19 AL BR. SS ST

-IF 1903 1/8X28 1/8X28 AL. BR ss ST

® Male NPT To Barb Stralght

I

HE1910-3/8K15 ALBRSSST '
HF-1910-3/4X14 mm-:
HE1910.8/8X14 |10 | 5/8K14 IAL B 958
'|F 191234)(14 ._.

' SYI1dvaVv ® SONILLI4 ISOH!

HF—841-4

AL BR SS. ST

® Strai g ht Male To Ma le With1/8"Port @\ \ N

S\ Sy

!H

® Straight AN Male To ch

HF- 134 7/16X4 AL SS ST BR
HF-186-7 6X24 n AL Ss, ST BR
T ﬂ AL SS,STBR
HF-1 n AL SS ST BR
-1M1)(1. n AL SS ST BR
HF-1 “ AL SS ST BR

HF8418 CD115 ALBRSSST
HF841 105 (D105 ALBRSSST

HEF- 84161/8 CD905 ALBRSSST

HF 841 121 AL BR ss ST
HF 841 12 2 | AL BR ss ST

HEF- 841 9 2 AL BR ss ST

HF-856-3 - AL,SS,ST,BR
HF--6 n ALSS,ST,BR
HF- 856 10 IE AL,SS,ST BR

HF-856-16 | -16| 1/8" NPT |  ALSSSTBR

HF- 1306-5/8-20 n ALSS ST,BR

HF130611/1618 “ 11/16-18 ALSSSTBR

HF- 1306 7/8 20 “ 7/8-20

AL SS ST BR

HF-18-M161. “ AL S ST BR

HF_1810.5/8X18 -ﬁl

HF 841 5/8

HF—4—1 .

- (D5/8 AL BR ss ST
-m AL BR SS ST




1TOFCY Racing TP Racing

v '-___._‘_;
- Y AR - i - % i I B i
- - ¥ . M B T ’ b e, -I.: = e B EL{E %_.-: L B = e 5 y o= o : Y m | [ e e B | e ¥ & b " ;
. 1 % 1 % /N L = b7 L L 4 Ry LY : 1.\ ¥ s
| e Il y I::| I Jﬁl [ r I = B “'-. ] - »: | F A B r T | . | oy i :
4 i v : A L = ..-I e B 1 | | | ) - |. - | e : - B P e . || | | I h" I[_ l‘:‘!}g“__ B
. " F . - | - _ » 9 A . - Y b = | 1 " 3
" ! (R - el Sl 5 : E— 4 I' : - r .- R i AR -l- = Aol N. -' 'i"I | | . - L rﬁ‘*' Ll s -

- S S 7 . '
% atuminlum(AM Eraa‘”f'Bi ), stainless steel(SS), zinc |

........

" Material: anodise

Materlal anadlsed alummlum(AL) brass(BR), stainless ¢

® 45°Male NPT To Barb
® Metric To Barb Adapters

HF-71 AL BR ss ST
HF-876 m AL BR ss sr
HF- 876 5 _ AL BR ss sr
-IF 876 7 I'Imﬂ ..a .S

HF-876-9 m-

HE- 876 11 AL, BR ss sr
HF-876-13 AL, BR ss ST
HF-876-15 ALBRSS.ST
HF- 876 17 Emm- A-BR ss ST
F-876- 19 AL. BR.S.
{F-876-21

F__B - L,SS,S
B A

HF-44—2 e | 3 AL,SS,ST

® ORB To Barb Adapter

HF-875-4-3/8 “ 3/8bar AL. BR ss ST

HF-875-4-5/16 “_/1 6bar AL BR SS ST
HF-875 6-5/16 “ AL BR SS ST

HF-875 6-12 “ AL BR SS ST
HF-875 8 3/8 “m AL BR SS ST

HF-875101/2 IEI /2barb AL BR ss ST

Syd1dvadVv ® SONILLId dSOH,

'SYI1dVAyVv ® SONILLI4 ISOH

(DB M18X1 .5 A

® 90°Male NPT To Barb

AL,SS,ST HF-875-10.3/8 | 10 |3/8barb IALBRSS.ST

& AN Flare To Barb Adapters

-
-
HF 843 06 08 -_

HF- 843 08 08 -_
-_

3/4"

HF-843-4B AL,SS,ST

HF-837-4-1/4 AL SS ST BR
HF-837-6-3/8 ﬂ AL ss ST BR
® ORB To Barb Adapter el el EEI AL 55 ST BR
HF-837-6-1/2 ﬂ AL SS ST BR

H |=--05 AL,T

HF- 843 6 AL SS,ST

ALSS,ST

HF-837--/16 -8 | 5/16" AL SS ST BR

HF2232-06-D05 - AL'SS,ST,BR

AL,SS,ST

HF2232 06 D08 _ AL, ss ST,BR

HF2232 08 D08 ANB 1/2" AL SS ST BR

HF- 843 10

|-||=-343-1 5 34"




LUOFTRECIRG LAY RECInG

1 1 J A . APTER F TTIN * M .
aﬂ %h@ﬁlsed aIumlnlum(AL) brass(BR) stainless steeI(SS) zinc plated steel(ST)

® NPT Weld ON Bung
® AN Weld ON Bung ' NPT

HF2234-7104 “ ALBR.SS.ST
HF2234-7108 “ AL BR SS. ST
HF2234-7112 AL.BR.SS.ST

HF2234-7120 -2 AL BR SS ST

® AN Weld ON Bung

& Banjo Bolts

HF-879- ALSS ST BR
HF-879-3
HF-¢ ' | —2
HF- 8799
HF87911 -— ALSSS BR

HF-891-1/8 | 1/8" "ALBR.SS.ST
HF-891-3/8 38 | ALBRSSST
esor3a | 3w | ALBRSSST
HF-891-1/2-1 172’ ALBRSS.ST

® AN Banjos Fitting

HF-880-3-85 AL/SSSTBR
iF 560312
iss0eus | 4 | asmm |
HF---1 “ L,T
HF-O--5 n ,ST

HF87913 1. ALSSS BR
HF-879-15 | M18X1.5

HF-879-17
HF-870-10 AL
ALSS,ST.8R
87023
ALSS ST BR
HF-879-29 AL ss STBR
L's5.ST BR

SH31dvayv ® SONILLI4 ISOH!

SY¥31dvaVv ® SONILLI4 ISOH,

HF-880-6-125 _ “ .
HF-O--5 n
comes e |t
00 "5 | 125mm
"1 _1 . _ AL ss T BR
T4l _.m _ AL SS ST BR
-- -1 85 _1 .mm ALr'T,R
”" = _

HF2235-7204| -4 | ALSSSTBR

HF2235 7203 “ AL ss ST BR

o Female Metnc Weld ON Bung

HF 888 M10 V1010 AL.SS.ST
HF-888-M14 11411 AL.SS.ST

- Weld ON Bung

— AL. ss ST
“ Al
-T- AL, SS. ST
-r- ALSS.ST

AL,SS,ST,BR
33 LE HF- 885 3
HF- 5

AL,SS,ST,BR




LUOFC RECInG

e F O K Y
ﬁ# e o 1 ]
i = VY

<l . e

LUOFY RECIRG

l e, L | 0 : . " 3 i ; 1 - _ " g
b . - 3 i d ‘ : . y ﬁ = = .'lI ;;_',1-__,'_:':.' e
TURBO DRAII APTER

Material: anodised aluminium(AL), brass(BR), stainless steel(SS), zinc pla

® Fuel Pump Y Adaptor

® Billet Y-Block HF-956-6
HF-956-10 2 X AN10

IN 1/2" NPT OUT 3/8" NPT
® Turbo Drain Adapter P / < 8 |
HF2279-3 |IN 1/2” NPTOUT 1/2" NPT
HF2279-5 |IN 3/8” NPT OUT 3/8” NPT

® 1/8NPT Female Y Adapters

® Y-Adapter

'SYI1dVAV B SONILLIA ISOH

 Sd31dvaVv ® SONILLId 3SOH

HF-957-1/8-3 1/8" NPT
HF-957-4-3 | 4
rosres |6

HF-95786 | 8
.TUFbO Draln Adapter HF-957-10-8 “

I AF-957-12.12

® Turbo Drain Adapter ® Fuel Pump Y Adaptor

HF-955-6 2 X AN6 Female

HF2239-7/8-14 m 38-41.4mm(1.5" )

® Turbo Drain Adapter

® Stainless Hose Ends
HF-938-3-1 A
HF-938-3-1.5 AL




T
O
]
L
Z
)
_l
Py
C
O
—i
O
.

hleeFal IRGcing

> > IDENTIFICATION CHART

R - [i™ Wil L
o 1 | | ] N & Ry A el
3 5 i —

® Male NPT Identification Chart

The line drawings below depict the actual sizes of the various common NPT thread sizes. If you are unsure as to
what thread size you are using lay your fitting over the appropriate drawing to determine its size.

.

® Male AN/ORB Adapter Identification Chart

The line drawings below depict the actual sizes of the various common AN/ORB thread sizes. If you are unsure as
to what thread size fitting you have lay your fitting over the appropriate drawing to determine its size.

NOTE: -AN and ORB thread are the same diameter. AN seals with the fare, ORB seals with an O-ring.

® AN Hex Od Identification Chart

The line drawings below depict the actual sizes of the various common types of fittings. hose ends and adapters.
The number is SAE spanner size equivalent.

N PT(ationaI Pipe Thread) o N Tread

3 3/8
6

1/16" T
10

1/4"
1/2"
1"
1-1/2"

7

-10 35
16 | 1-5/16 70

11-1/2
11-1/2

16
24

heeFal IRGGing

== = = . A1 A 1Y W~
. — A L vy kR &7
o TnSE e () [T
- - - I S T A P vry A Sk -
1y R i cordl
T A el

Note



